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LCM & HCF, TIME and WORK, NUMBER SYSTEM

1. A can do a piece of work in 40 days, B in 30 days and C in 24 days. In how many days
can A finish the work if he is assisted by B on one day and C on the next, alternately?
‘A’ qm Gaumevenws 40 prlsefled ‘B’ 30 mriseignd ‘C’ 24 priseflend (pguiam. A
5% B @ mrmenbd, C @ mrepd wrms wi o gelame, A ehsHemer BILS6me0 (LPUiLmT?
(A+B)'s 1 day work = [i +ij of the work, i.e., —

40 30 120
l 1

(A +C)'s1day work = (

40 24
8 1

2 days work done = L A E
120 120 8

) ie. iof the work.
120

Since % of work is done in 2 days, so whole of the work is done in 16 days.

2. Answer the following questions
LeTe(HD e o EhdhE ailenL ler
A. If the sum of two numbers is 36 and thier H.C.F. and LCM are 3 and 105
respectively the sum of the reciprocals of the two numbers is.
B elewielenl mBH0 36 WBEBID G .0u.sT wBmId W.H.o wepGw 3 BBID
105 eedlled SuBpslent HemeudSluflerr gnBEHe0?
Solution:
Let the numbers be x and y.
x+y =236
LCM =105, HCF =3
x x y =LCM x HCF
xy =105 x 3 =315
sum of the reciprocals of two numbers is
1 1 _Yy+X

Y wy
- %_4
315 35
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B. The sum of three consecutive natural numbers is 3666, then find the numbers.
WIIB DIBSHHBHH Buied eTewtHelel FmbBHe0 3666 6laNed DIeUCIEITTHEMETS HTEWISH.
Solution:

x+ (x+1)+ (x+2)=3666
3x + 3 = 3666
3x = 3663
x =1221
three numbers are 1221, 1222 and 1223

15 Mark

1. Answer the following questions
LesTeu(hld e oEhdh@ aleml werl
A. The sum of the digits of a given two digit number is 5. If the digits are reversed,
the new number is reduced by 27. Find the given number.
QT  FMevdbd  clewiewlledl  OeVHBMIB6MET  FnbBHO 5.  DBHET  B6VDHBHIB6IT
@LomBBUUL LT HoLsGh  LsHuwl eemieomerdl OaThesluUlL  eewienedl il 27
GMMBEY 6160 DIHFH 6CTENIENENIH  BHTEWISH.

Solution:
Let x be the digit at ten's place and y be the digit at unit place.
Given thatx+y=5 ... (1)
Tens Ones Value
Given Number X y 10x +y
new Number (after reversal) y X 10y + x

Given, Original number - reversing number = 27
(10x +y) - (10y + x) =27
10x - x +y - 10y = 27
9x - 9y =27
Xx-y=3 (2)

Also from (1), y=5-x 3)
Substitute (3) in (2) toget x - (5-x) =3

x-5+x=3

2x =38

x=4
Substituting x =4 in (3), wegety =5-x=5-4

y=1
Thus, 10x +y=10x4+1=40+1=41

Therefore, the given two-digit number is 41.
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B. Find the smallest 5 digit number exactly divisible by 16, 24, 36 and 54.
16, 24, 36 w@BmId 54 SFW elemwidenme0 WHF Fllwns euGu@BD. WHeFHBW  MbHS
BovVh®H  6T6ITEN6ITED  BHT6001H.

Solution:
First find the LCM of 16, 24, 36 and 54.
LCM =432
Smallest 5 - digit no = 10000
Divide 10000 by 432
Remainder = 64
Req.no = 10000 + (432 - 64)
= 10000 + 368
= 10368
= 10368 is the smallest 5 digit no. exactly divisible by 16, 24, 36 and 54.

It takes 24 hours to fill a swimming pool using two pipes. If the pipe of larger diameter
is used for 8 hours and the pipe of the smaller diameter is used for 18 hours. Only half
of the pool is filled. How long would each pipe take to fill the swimming pool.

B OeuaiGoum SleNe] @l L (penL Ul GDTUISET (PeVlD @ HEFF6L (G6MHIH60 (PDEDLOWITE
BT Hyiu 24 wewll CHIL SL@D. DHS allL(podLw Gpmenul 8 wewll CHIIPD  GHMBbHSH
ol LweLw @oTenw! 18 wewfl GBI ummu@g;gﬂ BT Lr‘ﬂuu@amrmo BFFL (G6NTHSH 60 uer;‘W
SIeMe| BT  HIFDUD 61660,  HeollSHHed s SbsH  GLTUIBMmeN D Camemihy BHFFeL G6ND

(PaUFHID BT BILL QLGSGLD HT60 DI6N6|HM6NTH HT6NISH.
Let A and B be two pipes

So in 1 hour quantity of water filled by pipe A is % and that of pipe B is % . The quantity

of water filled by both pipes in one hour is " + % .
It takes 24 hours by pipes to fill the pool
S (1)
A B 24
The quantity of water filled in 8 hours by pipe A = %
18

The quantity of water filled in 18 hours by pipe B = B

Given in the question half is filled so

g, 800 )
A B 2
From (1) and (2) we have
1
+ = o ieeees 3
x+ty=— (3)
8 +18y=~- 4)

Multiply eqn (3) by 8 and eqn (4) by 1
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8x + 8y =

Wk

8x+18y=%

Subtracting we get
1
-10y = =
’T 6
-1
77 60
So we have B = 60
The second pipe alone fills in 60 hours

Substituting y = 1/60 in eqn (3),

1 1

+ — =

60 24

120x =3
3 1
X=_=_
120 40

So A =40 hours
So it will take 40 hours, if the first pipe alone fills the pool.
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